
Write your 

questions here! 

7.1 Rectangular Approximation 
Car travels 60 miles per hour 

 
 

Left Endpoint Rectangle for interval [1,3] with n subintervals 

(࢞)ࢌ = ࢞૛ + ૚ 

݊ = 2 ݊ = 4 ݊ = 6 

   
 
 
 

 

Right Endpoint Rectangle for interval [1,3] with n subintervals 

(࢞)ࢌ = ࢞૛ + ૚ 

݊ = 2 ݊ = 4 ݊ = 6 

   
 
 
 

NOTES 



Midpoint Rectangle for interval [1,3] with n subintervals  
(࢞)ࢌ = ࢞૛ + ૚ 

݊ = 2 ݊ = 4 ݊ = 6 

   
 
 
 

 

Sketch the following rectangular approximations  

Left Endpoint   ݊ = 5 
[1,3] 

Right Endpoint   ݊ = 8 
[1,4] 

Midpoint   ݊ = 6 
[2,4] 

   
 

(ݐ)  (ݐ)  0 < ݐ < 13

Time 
(minutes) 

0 4 6 10 13 

 (࢚)ࡾ
(gallons/min) 

7 13 18 23 27 

 

  


